
Read all instructions prior to installing product. 

Refer to manufacturers safety instructions when operating any tools.

To register your product, please visit: freedomproduct.com

WEB REV 08.23

Installation Instructions
Lincoln Railing

English Instructions...............................1

Español Instructions..............................14



2

WARNING:
•	Improper installation of this product can result in personal injury. Always wear safety goggles when 

cutting, drilling and assembling the product.
•	Incorrect installation may cause harm to the product or individual.

Closely follow Post Install Kit installation 
instructions or use a Post Sleeve over an existing 
wood 4x4.

Cut Rails to Length

a.	 Place bottom rail across post opening leaving 
equivalent spacing from the last baluster and post 
on each end (Fig. 1).

b.	 Mark 1⁄8" from end of post to allow room for 
expansion (Fig. 2).

c.	 Align top rail with bottom rail and cut both rails 
with miter box or hacksaw (see saw blade 
manufacturer's specs for correct blade)  
(Fig. 3).

NOTE:  
You will have to cut through an aluminum insert 
in each rail.

Fig. 1

Fig. 3

Spacer Blocks

Cut two 2" temporary wood spacer blocks (not 
included) to insert under ends of railing sections 
to temporarily assist in aligning railing section 
(Fig. 4).

Fig. 2

LEVEL RAIL INSTALLATION

To obtain and review a copy of the warranty please visit Freedomproduct.com/warranty.  
You may also contact us at 1-888-418-4400 or email CS.outdoorliving@barretteoutdoorliving.com.

2" Spacer Blocks

Fig. 4

1

2

3



3

Installing Bottom Rail

a. If installing a 10' kit, locate and mark the center point 
on the underside (unrouted side) of the bottom rail. 
Attach the support foot to the bottom rail as shown 
below (Fig. 5) using supplied set screw. 

b.	 Place brackets onto both ends of bottom rail  
(Fig. 6).

c.	 Slide bottom rail in between posts and rest on top 
of wood spacer blocks (Fig. 7).

d.	 Ensure bracket is centered to post. Then, using 
1⁄8" drill bit, pre-drill first bottom bracket screw hole 
through bracket hole and post (use the four outside 
corner holes) (Fig. 8).

e.	 Drive the first #10 x 11/2" screw through bottom 
bracket into post (Fig. 9).

f.	 Repeat steps c and d for the remaining three 
screws for the first bottom bracket.

g.	 Repeat steps c, d and e for the second bottom 
bracket.

Fig. 5

Fig. 6

Fig. 7

Fig. 8 Fig. 9

4



4

Snap Balusters Into Your Bottom Rail

a.	 Each kit with vinyl balusters contains  
2 tabbed balusters. Space them evenly into 
each section.

b.	Push all balusters into bottom rail (Fig.10).

Fig. 10

NOTE:   
Lincoln top rails are reinforced with an aluminum 
channel. Please check the inside of your top rail 
prior to installation. If it uses a shape other than a 
capital "H", then be sure to orient that rail so the 
long part of the aluminum faces the Inside of the 
deck (Fig. 11).

Installing Top Rail

a.	 Place brackets onto both ends of top rail 

b.	Begin at one side of rail and align first baluster 
with first routed hole on bottom side of top rail 
and snap top rail into position (Fig. 12).

c.	 Continue down the line of balusters installing 
balusters into top rail.

d.	 Install brackets:

	 i.  Make sure rails are fully seated with 
    balusters and level and centered to post 
    sleeve. Then, using 1⁄8" drill bit, pre-drill 
    first top bracket screw hole (Fig. 12). Drill  
    through bracket hole, vinyl post sleeve and 
    vinyl insert and loosely install first 
    #10 x 11/2" screw.    

	 ii.  Repeat pre-drilling process for 
     remaining three screws (Fig. 13).

	 iii.  Tighten screws until the bracket is snug 
      with the post.  We recommend a non- 
      impact drill with a clutch setting to avoid 
      over tightening (Fig. 14).

	 iv.  Repeat steps i-iii for the second 
     top bracket.

Fig. 11

Deck 
Side

Any 
Side

Fig. 12

5

6



5

Install Side Bracket Screws And Covers

a.	 For each installed bracket, pre-drill in the 
center of each elongated hole with a 1⁄8" drill 
bit (Fig. 15).  	

NOTE:  
In some cases you will be drilling though 
aluminum as well as the vinyl railing.

b.	 Install #10 x 1" screws in all pre-drilled holes 
(Fig. 16).

c.	 Match letter on inside of bracket cover to the 
letter on bracket, and snap cover in place. 
Repeat for all brackets (Fig. 17).

Install the Support Foot Cover

a. 	Attach the support foot to the deck surface 
using support foot screw and snap the cover 
into place (10' only) (Fig. 18).

Fig. 13

Fig. 14

Fig. 16Fig. 15

Fig. 17 Fig. 18

7

8



6

ANGLED RAIL INSTALLATION

Lincoln T-Top Railing Can Be Installed At Angles With Three Methods/Options

I.	 Using pre-molded adapters (at 22.5° or 45°)

II.	 Using adjustable “Swivel” brackets

III.	Using field cut angle brackets

1. Measure distance between post from inside 
corners (Fig. 1) that will be using the pre-
molded adapter and the next post. Subtract 
¾" from that distance and that will be the 
length you will need to cut your top and 
bottom rails (Fig. 1).

2. Install railing as outlined in level rail section, 
noting the following:

	 Place adapter between brackets and posts. 
Pre-drill and use the longer 3" screws 
provided with adapters to connect to the post 
(Fig. 2).

Fig. 1Top View

Fig. 2

Post

Adapter

Rail

Determine  Angle

Top View Fig. 3

I. 22.5°/45° Pre-Molded Adapters

II. Adjustable Swivel Brackets

1. 	After posts have been installed, determine 
angle of railing (Fig. 3).

1

1



7

Pre-drill 1⁄8" diameter holes in base, then fasten 
bracket at the determined angle (Fig. 4).

Cut railing to desired length. Place bracket on 
each end of top and bottom rails (Fig. 5).

Mark four screw hole locations on each bracket. 
Set rail section aside, then pre-drill 1⁄8" diameter 
holes in posts at each mark (Fig. 6).

Attach each top rail bracket with four #10 x 2" 
screws (Fig. 7). Attach each bottom rail bracket 
with four #10 x 11/2" screws.

Pre-drill one 1⁄8" diameter hole through top rail 
and aluminum insert for each side of top rail 
brackets only. Fasten with #10 x 1" flat head 
screws (Fig. 8).

Add two screw covers for both top and bottom 
brackets and add two screw caps for each top 
rail bracket (Fig. 9).

Fig. 4

Fig. 5

Fig. 6

Baluster

Rail

Fig. 7 Fig. 8 Fig. 9

2

3

4

5

6

7



8

Repeat installation process for each additional 
rail assembly. Finished Installation

1.	Slide handrail bracket over ends of railing. 
Measure angle required, cut bracket and rail 
(and aluminum channel) to that angle.

2.	Repeat for bottom rail.

3.	 Install railing per instructions for level railing.

NOTE:  
The maximum cut angle should be no greater 
than 21.5 degrees to ensure the bracket/rail 
does not overhang the 4x4 post. If you use this 
bracket at an angle greater than 21.5 degrees, 
it is recommended to use a larger post sleeve.

You will want to cut the angle bracket enough 
to keep your spacing between your post and 
first baluster at a minimum (4" or less).

Depending on how much the bracket has been 
cut, a shorter screw may be necessary (to 
ensure screw does not protrude through the 
post sleeve).

Fig. 10

Fig. 11

III.  Field Cut Angle Bracket

8

1



9

STAIR RAIL INSTALLATION

Lincoln T-Top Stair Railing Can Be Installed With Three Methods/Options  

	 I.   Using pre-molded brackets

	 II.  Using adjustable “Swivel” brackets

	 III. Using field cut angle brackets

Post Installation

Closely follow Post Install Kit installation 
instructions or use a Post Sleeve on an existing 
wood 4x4.

Determine Spacing

Temporarily secure a deck board (5⁄4") to your 
stair treads to determine the spacing between 
the nose of the stairs and your bottom rail  
(Fig. 1).

NOTE:  
Lincoln top rails are reinforced with an aluminum 
channel. Please check the inside of your top rail 
prior to installation. If it uses a shape other than 
a capital "H", then be sure to orient that rail so 
the long part of the aluminum faces the Inside of 
the deck (Fig. 2).

Assemble Your Stair Railing Section

a.	 Each kit with vinyl balusters contains 2  
tabbed balusters. Space them evenly into 
each section.

b.	Assemble your stair railing section by 
snapping balusters into bottom rail (Fig. 3).

Fig. 2

Any 
Side

Deck 
Side

Fig. 1

Temporary Temporary 
Deck BoardDeck Board

Fig. 3

1

2

3



10

I.  Using Pre-Molded Brackets

Stabilize Section

a.	 Place assembled stair railing section adjacent 
to mounted stair posts, leaving equal distances 
from the ends of both balusters and clamp your 
stair railing section to the posts (Fig. 4).

b.	 Trace the post onto each rail (both ends of top 
and bottom rails). Make four marks in total 
being sure to mark 1⁄8" shorter to allow for 
expansion (Fig. 5).

Cutting Rails

Remove clamped stair kit from posts. Cut 
along all four angled marks on rails (Fig. 6).

Slide the stair brackets onto the rails (Fig. 7) 
and place rail section between your posts  
(Fig. 8).

Clamp

Fig. 4

1⁄8"

Fig. 5

Fig. 6

Fig. 7 Fig. 8

1

2

3



11

a.	 Mark all bracket holes. Pre-drill all bracket holes 
with 1⁄8" drill bit (Fig. 9).

b.	 Drive screws through brackets into post using 
#10 x 11/2" self-tapping square drive screws (4 
per bracket) (Fig. 9).

Install Side Bracket Screws and Covers

For each installed bracket, pre-drill in the center 
of each elongated hole with a 1⁄8" drill bit ( 
Fig. 10).

NOTE:  
In some cases you will be drilling though 
aluminum as well as the vinyl railing.

Install #10 x 1" screws in all pre-drilled holes 
(Fig. 11).

Match letter on inside of bracket cover to the 
letter on bracket, and snap cover in place 
(Fig. 12). Repeat for all brackets.

Fig. 9

Fig. 11

Fig. 12

Fig. 10

4

5

6

7



12

II.  Adjustable Swivel Brackets

After posts have been installed, determine height 
of bottom rail to stair tread (Fig. 13).

NOTE:  
1x6 or 2x4 lumber may be used as a spacer.

Assemble rail section. Set rail section on top 
of spacer and against post. Using a level, hold 
railing section at proper pitch, then shift section 
up or down creating equal baluster spacing for 
each post. After rail is at proper position, hold in 
place with clamps (Fig. 14).

Align Angle Swivel Bracket in position 
establishing bracket height and the angle rotation 
of bracket. An additional 7/8" will need to be 
added to length. This second mark will be the cut 
line for the rail ends. Repeat this step for each 
end (Fig. 15).

After all ends of rails have first mark established, 
remove clamps from rail assembly. Mark the 
additional second mark 7/8" to rail ends as 
described in Step 3 and cut rail ends to length.

After cutting rail ends, place Angle Swivel 
Brackets over the ends of each rail. Set rail 
section back on the spacer between the posts, 
re-establishing pitch of bracket angle and clamp 
into position (Fig. 16).

Pencil mark the four screw holes in each bracket 
(Fig. 17). Pencil mark the position that the bracket 
is at along with the base (Fig. 17).

Remove clamps from rail assembly and remove 
rail assembly from between posts. Pre-drill 
marked holes from Step 6 into post with a 1/8" 
drill bit.

Fig. 13

Fig. 15

Fig. 14

Clamp

Fig. 16

Fig. 17

1

2

3

4

5

6

7



13

Remove bracket from ends of rail assembly. 
Aligning bracket and base with the pencil mark 
from Step 7, fasten with two provided #10 x 1" 
Pan Head screws (Fig. 18). Bottom bracket uses 
one #10 x 1" Pan Head screw. 

Repeat this for each bracket.

NOTE:  
Top bracket uses four #10 x 11/2" screws, two #10 
x 1" flat head screws and two #10 x 1" Pan Head 
screws.

Bottom bracket uses four #10 x 1½" screws and 
one #10 x 1" Pan Head screw.

Place brackets back on rail ends, then place rail 
assembly on spacer (Fig. 19). Fasten brackets 
to post using four #10 x 11/2" screws provided, 
aligning brackets to pre-drilled holes from Step 8.

Once all four brackets are fastened to the posts, 
pre-drill through bracket, rail and aluminum insert 
(if used) with a 1/8" drill bit, in two places for each 
bracket. Next, fasten with two supplied #10 x 1" 
flat head screws (Fig. 20).  Repeat this step for 
each bracket.

Add two screw covers and two screw caps to 
each bracket.

III.  Field Cut Angle Bracket

a.	 Slide handrail bracket over ends of railing 
(Fig. 21). Measure angle required and cut bracket 
and rail (and aluminum channel) to that angle.

b.	 Repeat for bottom rail.

c.	 Install railing per instructions for stair railing. 

NOTE:  
You will want to cut the angle bracket enough to 
keep your spacing between your post and first 
baluster at a minimum (4" or less).

Fig. 19

Fig. 20

Fig. 21

Fig. 18

Base

(2) #10 Pan 
Head Screws

8

9

1

10



14



Lea todas las instrucciones antes de la instalación del producto.

Consulte las instrucciones de seguridad del fabricante cuando vaya a utilizar  
alguna herramienta.

To register your product, please visit: freedomproduct.com

WEB REV 08.23

Instrucciones de Instalación
Barandal Lincoln

English Instructions...............................1

Español Instructions..............................14



16

ADVERTENCIA:
•	 La instalación incorrecta de este producto puede resultar en lesiones corporales. Utilice siempre gafas 

de seguridad al momento de cortar, taladrar y ensamblar el producto.
•	La instalación incorrecta puede causar daños al producto o a la persona.

Siga atentamente las instrucciones de instalación 
del kit de instalación de postes o utilice una 
funda de poste sobre un poste de madera 
existente de 4x4.

Cortar los Travesaños a la Longitud Deseada

a.	 Coloque el travesaño inferior perpendicular 
a la abertura del poste, dejando un espacio 
equivalente entre el último barrote y el poste 
en cada extremo (Fig. 1).

b.	Marque ¹/8" (0,32 cm) desde el extremo del 
poste para dejar espacio para la expansión 
(Fig. 2).

c.	 Alinee el travesaño superior con el inferior y 
corte ambos travesaños con una segueta o 
caja de ingletes (consulte las especificaciones 
del fabricante de la hoja de segueta para 
escoger la indicada) (Fig. 3).

NOTA:  
Deberá cortar a través de un inserto de aluminio 
en los travesaños.

Fig. 1

Fig. 2

Fig. 3

Bloques Espaciadores

Corte dos bloques espaciadores 
temporales de madera de 2"  
(5 cm) (no incluidos) para insertarlos 
debajo de los extremos de los 
tramos de barandal. Esto le ayudará 
temporalmente a alinear los tramos 
de barandal (Fig. 4).

2" Spacer Blocks

INSTALACIÓN DE BARANDAL PLANO

Para obtener y revisar una copia de la garantía, visite Freedomproduct.com/warranty. También 
puede contactarnos al  1-888-418-4400 o enviar un correo electrónico a CS.outdoorliving@
barretteoutdoorliving.com.

Fig. 4

1

2

3



17

Instalar Travesaño Inferior

a. Si se instala un kit de 10' (3,05 m), localice y 
marque el punto central en la parte inferior (lado 
no ranurado) del travesaño inferior. Fije el pie 
de soporte en el travesaño inferior como se 
muestra a continuación (Fig. 5) con el tornillo de 
fijación suministrado. 

b.	Coloque los soportes en los dos extremos del 
travesaño inferior (Fig. 6).

c.	 Deslice el travesaño inferior entre dos postes y 
apóyelo sobre de los bloques espaciadores de 
madera (Fig. 7).

d.	Asegúrese de que el soporte esté centrado 
en el poste. A continuación, con una broca de 
¹/8", taladre el primer agujero para el tornillo del 
soporte inferior a través del agujero del soporte 
y el poste (utilice los cuatro agujeros de las 
esquinas exteriores) (Fig. 8).

e.	 Coloque el primer tornillo #10 de 1½" a través 
del soporte inferior en el poste (Fig. 9).

f.	 Repita los pasos C y D para los tres tornillos 
restantes del primer soporte inferior.

g.	Repita los pasos C, D y E en el segundo soporte 
inferior.

Fig. 5

Fig. 6

Fig. 7

Fig. 8 Fig. 9

4



18

Encajar los Barrotes en el Travesaño Inferior

a.	 Cada kit con barrotes de vinilo contiene 2 
barrotes con pestañas. Distribúyalos de 
manera uniforme en cada sección.

b.  Empuje todos los barrotes en el travesaño 
inferior (Fig.10).

NOTA:   
Los travesaños superiores Lincoln están 
reforzados con un canal de aluminio. Compruebe 
el interior de su travesaño superior antes de 
la instalación. Si utiliza una forma que no sea 
una "H" mayúscula, asegúrese de orientar ese 
travesaño de manera que la parte larga del 
aluminio esté orientada hacia el interior de la 
plataforma (Fig. 11).

Fig. 10

Instalar Travesaño Superior

a.	 Coloque los soportes en los dos extremos del 
travesaño superior. 

b.	Empiece en un lado del travesaño y alinee el 
primer barrote con el primer orificio ranurado 
en la parte inferior del travesaño superior y 
encájelo en su lugar (Fig. 12).

c.	 Continúe con la línea de barrotes instalándolos 
en el travesaño superior.

d.	 Instalar soportes:

     i.  Asegúrese de que los travesaños estén 
    completamente asentados con los barrotes 
    y nivelados y centrados en la funda del  
    poste. Con una broca de 1⁄8", taladre el  
    primer agujero para tornillo del soporte  
    superior (Fig. 12). Taladre a través del 
    agujero del soporte, la funda del poste de 
    vinilo y el inserto de vinilo e instale sin 
    apretar el primer tornillo #10 de 1½".

    ii.  Repita el proceso de perforado para los 
    restantes tres tornillos (Fig. 13).

   iii.  Apriete los tornillos hasta que el soporte 
    quede ajustado al poste.  Recomendamos 
    el uso de un taladro sin impacto con un 
    ajuste de embrague para evitar un apriete 
    excesivo (Fig. 14).

   iv.  Repita los pasos i a iii con el segundo 
    soporte superior. 

Fig. 11

Lado de la 
cubierta

Cualquier
 lado

Fig. 12

5

6



19

Instalar Tornillos y Cubiertas de  
Soportes Laterales

a.	 Para cada soporte instalado, taladre en el 
centro de cada agujero alargado con una 
broca de 1⁄8" (Fig. 15).  

NOTA:  
En algunos casos se perforará tanto el aluminio 
como el barandal de vinilo.

b.	 Instale tornillos #10 de 1" en todos los 
agujeros taladrados (Fig. 16).

c.	 Haga coincidir la letra del interior de la tapa 
del soporte con la letra del soporte, y encaje 
la cubierta en su sitio. Repita la operación 
con todos los soportes (Fig. 17).

Instalar la Cubierta del Pie de Soporte

a.	 Fije el pie de soporte en la superficie de 
la plataforma con el tornillo para el pie de 
soporte y encaje la cubierta en su lugar  
(solo 10') (Fig. 18).

Fig. 13

Fig. 14

Fig. 16Fig. 15

Fig. 17 Fig. 18

7

8



20

INSTALACIÓN DE TRAVESAÑO EN ÁNGULO

El Barandal con Acabado en T Lincoln Puede Instalarse en Ángulo con Tres Métodos/Opciones

I.	 Con adaptadores premoldeados (a 22.5° o 45°)

II.	 Con soportes ajustables "giratorios"

III.	Con soportes angulares cortados en el lugar

1. Mida la distancia entre el poste desde las 
esquinas interiores (Fig. 1) que utilizará el 
adaptador premoldeado y el siguiente poste. 
Reste ¾" de esa distancia y esa será la longitud 
que necesitará para cortar sus travesaños 
superior e inferior (Fig. 1).

2. Instale el barandal como se indica en la  
sección de barandal a nivel, teniendo en  
cuenta lo siguiente:

	 Coloque el adaptador entre los soportes y los 
postes. Taladre y utilice los tornillos más largos 
de 3" suministrados con los adaptadores para 
conectarlos al poste (Fig. 2).

Fig. 1Vista superior

Fig. 2

correo

adaptador

carril

Determine  Angle

Vista superior Fig. 3

I. Adaptadores Premoldeados de 22.5°/45°

II. Soportes Ajustables "Giratorios"

1. 	Después de instalar los postes, determine el 
ángulo del barandal (Fig. 3).

1

1



21

Taladre agujeros de 1⁄8" de diámetro en la base, 
y luego fije el soporte en el ángulo determinado 
(Fig. 4).

Corte el barandal a la longitud deseada. Coloque 
un soporte en cada extremo de los travesaños 
superior e inferior (Fig. 5).

Marque cuatro ubicaciones para los orificios 
de los tornillos en cada soporte. Coloque el 
tramo de barandal por un lado y, a continuación, 
taladre agujeros de 1⁄8" de diámetro en cada 
marca de los postes (Fig. 6).

Fije cada soporte de travesaño superior con 
cuatro tornillos #10 de 2" (Fig. 7). Fije cada 
soporte de travesaño inferior con cuatro tornillos 
#10 de 1½".

Taladre un agujero de 1⁄8" de diámetro a través 
del travesaño superior y del inserto de aluminio 
para cada uno de los lados de los soportes 
de travesaño superior únicamente. Fíjelos con 
tornillos de cabeza plana #10 de 1" (Fig. 8).

Añada dos cubiertas de tornillo en los soportes 
inferior y superior y dos tapones de tornillo en 
cada soporte de travesaño superior (Fig. 9).

Fig. 4

Fig. 5

Fig. 6

Balaustre

Carril

Fig. 7 Fig. 8 Fig. 9

2

3

4

5

6

7



22

Repita el proceso de instalación en cada 
conjunto de barandal adicional. Instalación terminada

1.	 Deslice el soporte del pasamanos sobre 
los extremos del barandal. Mida el ángulo 
requerido, y corte el soporte y el travesaño (y el 
canal de aluminio) a ese ángulo.

2.	 Repita la operación con el travesaño inferior.

3.	 Instale el barandal como se indica en la sección 
de barandal a nivel.

NOTA:  
El ángulo máximo de corte no debe ser mayor 
de 21.5 grados para asegurar que el soporte/ 
travesaño no sobresalga del poste de 4x4 Si 
utiliza este soporte en un ángulo superior a 
21.5 grados, se recomienda utilizar una funda 
de poste más grande.

Querrá cortar el soporte angular lo suficiente 
como para mantener el espacio entre el poste 
y el primer barrote en un mínimo (4" o menos).

Según cuánto se haya cortado el soporte, 
puede ser necesario un tornillo más corto (para 
asegurar que el tornillo no sobresalga a través 
de la funda del poste).

Fig. 10

Fig. 11

III.  Soportes Angulares Cortados en el Lugar

8



23

INSTALACIÓN DEL BARANDAL DE ESCALERA

El Barandal de Escalera con Acabado en T Lincoln Puede Instalarse en Ángulo con Tres 
Métodos/Opciones    

	 I.   Con soportes premoldeados

	 II.  Con soportes ajustables "giratorios"

    III.  Con soportes angulares cortados en el lugar

Instalación del Poste

Siga atentamente las instrucciones de 
instalación del kit de instalación de postes 
o utilice una funda de poste en un poste de 
madera existente de 4x4.

Determinar el Espaciamiento

Fije temporalmente un tablón de 5/4" (3,18 cm) a 
la huella del peldaño para determinar el espacio 
entre la saliente de los peldaños y el travesaño 
inferior (Fig. 1).

NOTA:  
Los travesaños superiores Lincoln están 
reforzados con un canal de aluminio. 
Compruebe el interior de su travesaño superior 
antes de la instalación. Si utiliza una forma 
que no sea una "H" mayúscula, asegúrese de 
orientar ese travesaño de manera que la parte 
larga del aluminio esté orientada hacia el interior 
de la plataforma (Fig. 2).

Ensamblar Tramo de Barandal de Escalera

a.	 Cada kit con barrotes de vinilo contiene 2 
barrotes con pestañas. Distribúyalos de 
manera uniforme en cada sección.

b.	Ensamble el tramo de barandal de escalera 
encajando los barrotes en el travesaño inferior 
(Fig. 3).

Fig. 2

cualquier

lado

lado de la 
cubierta

Fig. 1

Tablero de Tablero de 
cubierta cubierta 
temporaltemporal

Fig. 3

1

2

3



24

I.  Con Soportes Premoldeados

Estabilizar Tramo

a.	 Coloque el tramo de barandal de escalera ya 
ensamblado junto a los postes instalados, 
dejando una distancia igual entre los 
extremos de los dos barrotes y fije el tramo 
de barandal a los postes (Fig. 4).

b.	Trace el poste en cada uno de los 
travesaños (en ambos extremos de los 
travesaños superior e inferior). Haga cuatro 
marcas en total y no olvide marcar 1⁄8" más 
corto para dejar espacio para la expansión 
(Fig. 5).

Cortar Travesaños

Retire las pinzas del kit de escalera de los 
postes. Corte a lo largo de las cuatro marcas 
en ángulo en los travesaños (Fig. 6).

Deslice los soportes de escalera sobre los 
travesaños (Fig. 7), y coloque el tramo de 
travesaño entre los postes (Fig. 8).

abrazadera

Fig. 4

1⁄8"

Fig. 5

Fig. 6

Fig. 7 Fig. 8

1

2

3



25

a.	 Marque todos los agujeros del soporte Taladre 
los agujeros del soporte con una broca de 1/8" 
(Fig. 9).

b.	 Introduzca tornillos cuadrados autorroscantes 
#10 de 1½" a través de los soportes en el 
poste (4 por soporte) (Fig. 9).

Instalar Tornillos y Cubiertas de  
Soportes Laterales

Para cada soporte instalado, taladre en el centro 
de cada agujero alargado con una broca de 1⁄8" 
(Fig. 10).

NOTA:  
En algunos casos se perforará tanto el aluminio 
como el barandal de vinilo.

Instale tornillos #10 de 1" en todos los agujeros 
taladrados (Fig. 11).

Haga coincidir la letra del interior de la tapa 
del soporte con la letra del soporte, y encaje la 
cubierta en su sitio (Fig. 12). Repita la operación 
con todos los soportes.

Fig. 9

Fig. 11

Fig. 12

Fig. 10

4

5

6

7



26

II.  Soportes Ajustables "Giratorios"

Después de instalar los postes, determine la 
altura del travesaño inferior al peldaño de la 
escalera (Fig. 13).

NOTA:  
Se puede usar madera de 1x6 o 2x4 como 
espaciador.

Ensamble el tramo de barandal. Coloque el tramo 
de barandal sobre el espaciador y contra el 
poste. Con un nivel, sujete el tramo de barandal a 
la inclinación adecuada, luego desplace el tramo 
hacia arriba o hacia abajo creando un espacio 
de barrote igual para cada poste. Una vez que el 
travesaño esté en la posición correcta, sujételo 
con pinzas (Fig. 14).

Alinee el soporte angular giratorio en su posición 
estableciendo la altura del soporte y la rotación 
angular del mismo. Habrá que agregar 7/8" 
adicionales a la longitud. Esta segunda marca 
será la línea de corte para los extremos del 
travesaño. Repita este paso en cada extremo 
(Fig. 15).

After all ends of rails have first mark established, 
remove clamps from rail assembly. Mark the 
additional second mark 7/8" to rail ends as 
described in Step 3 and cut rail ends to length.

Después de que todos los extremos de los 
travesaños tengan la primera marca establecida, 
retire las pinzas del conjunto del barandal. 
Marque la segunda marca adicional a 7/8" de los 
extremos del travesaño como se describe en el 
paso 3 y corte los extremos del travesaño a la 
medida.

Marque con un lápiz los cuatro agujeros de los 
tornillos en cada soporte (Fig. 17). Marque con 
un lápiz la posición en la que se encuentra el 
soporte junto con la base (Fig. 17).

Retire las pinzas del conjunto de barandal y retire 
el conjunto de barandal de entre los postes. 
Taladre previamente los agujeros marcados del 
paso 6 en el poste con una broca de 1/8".

Fig. 13

Fig. 15

Fig. 14

abrazadera

Fig. 16

Fig. 17

1

2

3

4

5

6

7



27

Retire el soporte de los extremos del conjunto 
de riel. Alineando el soporte y la base con la 
marca de lápiz del Paso 7, fije con dos tornillos 
de cabeza plana # 10 x 1 "(Fig. 18). El soporte 
inferior usa un tornillo de cabeza plana # 10 x 1".

Repita esto para cada corchete.

NOTA:  
El soporte superior usa cuatro tornillos # 10 x 
11/2", dos tornillos de cabeza plana # 10 x 1" y 
dos tornillos de cabeza plana # 10 x 1 ".

El soporte inferior usa cuatro tornillos # 10 x 1½" 
y un tornillo de cabeza plana # 10 x 1".

Vuelva a colocar los soportes en los extremos 
del travesaño y luego coloque el conjunto de 
barandal sobre el espaciador (Fig. 19). Fije los 
soportes al poste con cuatro tornillos #10 de 1½" 
suministrados; para ello, alinee los soportes con 
los agujeros taladrados en el paso 8.

Una vez que los cuatro soportes estén fijados 
a los postes, taladre a través del soporte, el 
travesaño y el inserto de aluminio (si se utiliza) 
con una broca de 1/8", en dos lugares para cada 
soporte. A continuación, fíjelos con dos tornillos 
de cabeza plana #10 de 1" suministrados  
(Fig. 20).  Repita este paso con cada soporte.

Agregue dos cubiertas para tornillos y dos tapas 
para tornillos a cada soporte.

III.  Soporte de ángulo de corte en campo

a.	 un. Deslice el soporte de la barandilla sobre 
los extremos de la barandilla (Fig 21). Mida el 
ángulo requerido y corte el soporte y el riel (y 
el canal de aluminio) a ese ángulo.

b.	Repita para el riel inferior.

c.	 Instale la barandilla según las instrucciones 
para la barandilla de la escalera.

NOTA:  
Deberá cortar el soporte angular lo suficiente 
para mantener el espacio entre el poste y el 
primer balaustre al mínimo 
(4 "o menos).

Fig. 19

Fig. 20

Fig. 21

Fig. 18

Base

(2) Tornillos de 
cabeza plana 
n. ° 10

8

9

1

10



Barrette Outdoor Living 
7830 Freeway Circle, Middleburg Heights, OH 44130 
freedomproduct.com • (888) 418-4400


